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Question:
What aflects lat panel LCD TV sales? Flat panel LCD TV's are sold through a varisty of outiets. Sales figures (number of units) or the popular Sony Bravia were
obtained for last quarter ffom a sample of 30 diflrent stores. Also collected were data on the selling price and amount spent on advertising the Sony Bravia (as
percentage of total advertising expenditure in the previous quarter) at each store. Outputis shown below. The correct null and altemative hypotheses for testing

DependentVariable is Sales

Predictor Coef SE Coef T P
Constant 9019 2508 360 0001
Price -0.03055 001005 -304 0005
Advertising 30926 03680 840 0.000

$=106075  R-Sq=844% R-Sqad)=833%

the regression cosficient of Price is

HoBe = 05 Hufe <0
HoBe = 0vs. Hufe = 0
HoBe =05 HuBa 20

HoBe? 0vs. HyBem 0

mo o o >

Hq: The regression is not significant vs H: The regression is significant
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Question:

Stock prices and earings per share (EPS) data were collected for a sample of 15 companies. Below are the regression results. Which of the following
Statements is true about the correlation between stock price and EPS?

‘The regression equation is Stock Price

049+ 148 EPS

Predictor  Coef SECoef T 3
Constant  -0.486 4032 012 0908
EPS 148120 09437 1570 0.000

$=763235R-50=95.0%

© A The correlation s positive and significantly diferent from zero

© B Cannotbe determined from the information given

© C The correlation is negative

© D The correlations positive but ot significantly diferent from zero
o e

> ‘The correlation is not significantly diferent from zero
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Question:

For many countries tourism is an important source of revenue. Data are collected on the number of foreign visitors to a country (in millions) and total tourism
revenue (in billions of dollars) for a sample of 10 countries. Below is the fegression analysis output with tourism revenue as the dependent variable.

‘The standard erfor of the slope for this estimated regression equation is Regression Analysis: Tourism ($B) vs. Visitors (M)

‘The regression equation is Tourism (3)

15+ 0.295 Visitors (M)
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Predictor Coef SE Coef. TP
Constant 21464 3462
Visitors (M) 029497 007917

52258307

R-Sq=634%

>

029497
B oor017
€ esm2
D 3462

E 258307
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Question:
Which statement aboutinfluential points s true?

1. Removal of an influsniial point changes the regression line.
11 A high leverage pointis aliays influsntial

Il Influential points have large residuals.

© A janam
© B nanam

© € wanam

land i

O E oy
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Question:

A survey of online consumers asked respondents to indicate how much money they spent for online purchases during the most recent Christmas holiday season
These data were analyzed to See If gender and income level influence the amount consumers spend online for holiday shopping. Based on the two way ANOVA
results that appear below, we can conclude (ata = 0.05) that

Two-way ANOVA: Online $ versus Income Level, Gender

Source DF 55 us F 13
Income Level 2 10377.3 5188.63 140.42 0.000
Gender 1 68l.6 68l.63 18.45 0.000
Interaction 2  2355.3 1177.63 31.87 0.000
Error 24 886.8  36.95

Total 29 14301.0

1. Mean amounts spent online by consumers for holiday shopping are not same for males and females.
1l Mean amouns spent online by consumers for holiday shopping are not the same for diferent levels of income.
1l There s a signiicant interaction efect.

A only

B jandiionly
€ rony

D jiony

E

L1l and il
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Question:

What aflects lat panel LCD TV sales? Flat panel LCD TV's are sold through a variety of outiets. Sales figures (number of nifs) for the popular Sony Bravia wer
obtained for last quarter ffom a sample of 30 diflerent stores. Also collected were data on the selling price and amount spent on advertising the Sony Bravia (as
percentage of total advertising expenditure in the previous quarter) at each store. Based on the results shown below, the correct interpretation of the regressior

DependentVariable is Sales

Predictor Coef SE Coef h [ -4
Constant 9019 2508 360 0001
Price -0.03055 001005 -304 0005
Advertising 30926 03680 840 0000

coeficient for Advertising is

A While price negatively afects the number of Sony Bravia LCD TV's sold, an increase in the amount of money
‘spent on advertsing will esultn atleast three additional TV's sold

None of these

€ Aone percentinerease in the amount spent on advertising the Sony Bravia over the previous quarter willincrease
sales by 3.0926 units, on average

D Ata given price, increasing the amount spent on advertising the Sony Bravia over the previous quarter will
increase sales by 3.0926 units, o average

E Atagiven price, a one percentincrease in the amount spent on advertiing the Sony Bravia over the previous.
‘quarter is associated with an increase in sales of 3.0926 units, on average.
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Question:

A survey of online consumers asked respondents to indicate how much money they spent for online purchases during the most recent Christmas holiday season
These data wers analyzed to see if income level (1 = Low, 2 = Middle, 3 = High) influence the amount consumers spend online for holiday shopping. ANOVA
resuls yield an F statistc with an associated P-value of < 0.001. Therefore, ata = 0.05

1. Ve fail to reject the null hypothesis.
Ii. We reject the null hypothesis
1l We conclude that mean amounts spentfor online purchases during the most recent Christmas holiday are all equal across the difisrentincome levels.

© A wony

© B yony

®
o

Tand il only

© D oy

®
m

Iand il only.
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Question:

‘The residual plot for a linear regression model is shown below. Which of the following statements is true?

© A Thelinear modelis no good because some residuals are large,
B Thelinear model is okay because the association between the two variables s fairy strong
© € Thelinear model is okay because the same number of points is above the line as below it
D Thelinear model is no good because the correlation is near 0

E

> ‘The linear modsl is no good because of the curve in the residuals.
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Question:

Data were collected for a sample of 12 pharmacists to determine f years of experience and salary are related. Below are the regression analysis resuits. The
dependent variable is Salary in thousands of dollars. Suppose the P-value associated with the calculated tstatistic is < 0.001. Atthe 0.05 level of significance
Regression Analysis: Salary vs. Years Experience The regression equation is Salary = 37.2 + 149 Years Experience

Predictor Coef SECoef T P
Constant 37184 3381
Vears Experience 14882 02149 5= 556485 RS = 82.8%
© A Ve donotrejectthe null hypothesis.
B Ve rejectthe null hypothesis and we conclude that years of experience is significantin explaining pharmacists’
salary
©C Verejectthe null hypothesis
© D e do notreject the null hypothesis and we conclude that years of experience is significant in explaining
pharmacists' salary
o e

We conclude that years of experience is significant n explaining pharmacists' salary.
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Question:

ASQ (American Society for Quality) routinely conducis a ‘salary survey” of quality professionals. Suppose itis interested in determining ifthe industries within
which quality professionals work afect their salaries. They have salary data from random samples taken in three diferent industries: 2 = Financial, 3 = Health
Care). ANOVA results yield an F statistic with an associated P-value of < 0.001. Therefore, ata = 0.05

1. Ve fail to reject the null hypothesis.
Ii We reject the null hypothesis
Il We conclude that mean salaries of quality professionals are all squal across the different industries.

© A wony
© B oy
© € yanamony
© D yony

© B anduony
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Question:

An advocacy group is interested in determining if gender (1
three diferent industries: (1 = Consumer Goods, 2 = Financial,

emale, 2 = lale) afects execuiive level salaries. They take a random sample of executives in
Heath Care). Salary data are collected. The number of treatments In this example is

o A,
o B,

C s
0 D,
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Question:

Monihly closing stock prices for a utiity company were obtained from January 2007 through August 2008. A regression model was estimated to deseribe the
trend in closing stock prices over ime. The Durbin Watson statistic was calculated s 0.5626. Using a = 0.01 we can conclude that

A Thereis no evidence of positive or negative autocorrelation
© B Tnereis evidence of positive autocorrelation

© C There s evidence of negative autocorrelation

© D Tetestis inconclusive

© B Tnereis evidence ofan outlier
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Question:

An advocacy group is interested in determining if gender (1
three diferent industries: (

‘Consumer Goods,

1. This s an experimental study.
11 This is an observational study.
1l This is a randomized block design.

A

@

o

°

m

Wonly

only

Tonly

Tand il only

Iland Iifonly

Financial,

emale, 2 = lale) afects execuiive level salaries. They take a random sample of executives in
Heath Care). Salary data are collscted. Which of the following statements is true?
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Question:

Data were collected for a sample of 12 pharmacists to determine i years of experience and salary are related. Below are the regression analysis fesuits. The
dependent variable is Salary in thousands of dollars. The standard error ofthe slope for this estimated regression equation is Regression Analysis: Salary vs.
Years Experience

‘The regression equation is Salary = 37.2 + 1.49 Years Experience

Predictor Coef SECoef T P
Constant 37184 3381
Vears Experience 14882 02149

52558485

R-Sq=828%
DA s
O B o2u
0 C oas
0D 33

O E 558485
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Questiol

Alinear regression model was fitto data collected over a 13 year period representing technology adoption over time. Based o the regression output below, the
Durbin Watson stafisticindicates.

Durbin-Watson statistic

278634

Regression Analysis: Technology Adoption vs. Time

The regression equationis
Technology Adoption =- 119 +3 37 Time,

Predictor  Coef SECoef T 3
Constant 1835 3711 322 0.008
Time 33709 0.4676 721 0.000

$= 630783 RSq=825%

Thatthe testis inconclusive
None of these; the Durbin Watson cannot be used fr this model
Thatthe residuals are positvely autocorrelated
Thatthe residuals are negatively autocorrelated

‘That the residuals are not autocorrelated
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Question:
‘Alarge pharmaceutical company selected a random sample of new hires and obtained their job performance ratings based on their first six months with the
‘company. These data were used to build a multiple regression model to predict the job performance of new hires based on age, GPA and gender (female = 1 and
male = 0). The results ofthe analysis are shown below. At = 0.05 we can conclude that The regression equation is Job Performance =- 60.8 + 4.80 Age + 1.44

Predictor Coef SE Coef T P

Constant 6076 2249 270 0012
Age 4802 1177 408 0000
GPA 1443 2379 061 0549
Gender 9.060 2314 I 0001

$=556691  R-Sq=77.7%
GPA+9.06 Gender
A Genderis a significant variable in predicting job performance
B The regression coeficient associated with GPA is significantly different from zero
€ Age Is nota significant variable in predicting job performance
D' The regression coeficient associated with Age is not significantly difierent from zero

E  GPAis a significant variable in predicting job performance
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Question:

Amanufacturer of tle s experimenting with new material and wants to determine the optimal parameter setings for fring that will result in ties with high flexural
strength. Their qualit control engineers fire fles made with this new material at three diferent temperature seftings (1500°F, 1800°F and 2200°F) and for four
diferent times (2 hours, 6 hours, 10 hours and 12 hours). The number of treatments in this experiment s

o Ay
o B,
@ ¢
© D s
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Question:

)In order to examine fthere is a relationship between the size of cash bonuses and pay scale. data were obtained on the average annual cash bonus and the
‘average annual pay for a sample of 20 companies. Below Is the regression analysis output with annual cash bonus as the dependent variable. Which of the
following statements s true about the correlation between average annual cash bonus and average annual pay using = 0.057

Regression Analysis: Cash Bonus vs. Pay

‘The regression equation is Cash Bonus = - 4877 + 0245 Pay

Predictor  Coef  SECoef T [
Constant 4877 9106 -054 0599
Pay 02453 01079 22 0036
$=131886R-5q=223%
© A i notsignificantly diferentirom zero
© B s negative and significantly diferentirom zero
© © Cannotbe determined from the information given
© D tis negative butnot significantly diferentrom zero
o e

Itis positive and significanty diferent from zero
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Question:

Data were collected for a sample of companies regarding their investment in quality improvement eforts and cost savings realized as a result (both measured as
a percentage of sales revenue). The correlation coeficient for these data is = 0.913. fthe data were collected for individual depariments within companies.
rather than atthe company level, we would expect

®
>

None of these
© B Aweaker correlation
© C The same correlation
© D Feweroutiers in the data

© B Astronger correlation
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Question:
What afiects flat panel LCD TV sales? Flat panel LCD TV's are sold through a variety of outlets. Sales igures (number of units) for the popular Sony Bravia were
Obtained for last quarter fom a sample of 30 diferent stores. Also collected were data on the selling price and amount spent on advertising the Sony Bravia (as a
percentage of total advertising expenditure in the previous quarter) at each store. Based on the results shown below, the correct interpretation of the regression

DependentVariable is Sales

Predictor Coef SE Coef il P
Constant 9019 2508 360 0001
Price -0 03055 001005 304 0005
Advertising 30926 03680 840 0000

coeficient for Price is

A Holding the amount spent on advertising constant, an increase of $100 in the price of the Sony Bravia wil
decrease sales by 0.03%

B Fora given amount spent on adverising, a $100 increase in price of the Sony Bravia s associated with a
decrease In sales of 3.055 units, on average

€ Holding the amount spent on advertising constant,an increase of $100 in the price of the Sony Bravia will
decrease sales by 3.055 units

D Increasing the price ofthe Sony Bravia by $100 willresultin atleast 3 fewer TV's sold

m

None ofthese.
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Question:

A health food company wans to determine the best process for blanching dark green vegetable material so it can be added to other food products without losing
vitamin A They are examining three diferent blanching processes {o determine which is best in terms of vitamin A retention (mg/100mg). The response variable
is

© A Food products.
© B Darkgreen vegstable material
© € Bianching time

© D Bianching process

E  Vitamin A retention
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Question:

Based on the plot of residuals vs. ited values below, we can say that

A The equal spread condition s safisfied

B The quantitative variables condition is not safisfied
€ The nearly nomal condition is not satisfied

D The linearity condition is not satisfied

E

The equal spread condition is not satisfied

Residual

Versus Fits
(response i 1)
1=
1w .
i .
o . -
-1m
0 &0 780 E) E ]
Fted Vakie
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Question:
Which statement about residual plots is rue?

I Acurved pattem indicates nonlinear association between the variables.
11 A patter ofincreasing spread indicates the predicted values become less reliable as the explanatory variable increases

Il 12l of the residuals are very small, the model will predict accurately.

© A yanan
© B yanam
© € ony
© D yuanam

O E oy
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Question:

“The following is output from regression analysis performed to develop a model for predicting a firm's Price-Earings Ratio (PE) based on Growth Rate, Profit
Margin, and whether or notthe firm is Green (1=yes, 0= no). Ata = 0.05 we can conclude that The regression equation is PE = 8.04 + 0.757 Growth Rate +

Predictor Coef SE Coef T P

Constant 8043 1.570 512 0.000
Growth Rate 07569 01355 559 0.000
Profit Margin 005162 003239 159 0139
Green? 20900 07945 263 0023

00516 ProfitMargin + 2.00 Green? 5= 112583 R-Sq=87.8%

A The regression coeficient associated with Profit Margin is significantly difierent from zero

B The regression coeficient associated with Growth Rate is not significantly difierent from zero
€ Growth Rate is nota significant variable in predicting a firm's PE ratio

D ProfitMargin is a significant variable in predicting a firm's PE ratio

E \Whether or nota fim is Green is significant n predicting its PE ratio
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Question:

What aflects lat panel LCD TV sales? Flat panel LCD TV's are sold through a variety of outlets. Sales figures (number of units) for the popular Sony Bravia were
obtained for last quarter ffom a sample of 30 diferent stores. Also collected were data o the selling price and amount spent on advertising the Sony Bravia (as
percentage of total advertising expenditure in the previous quarter) at each store. Output is shown below. Using the estimated muliple regression model, the
number of units sold on average at a store that sells the Sony Bravia for 52199 and spends 10% of its advertising budget on the productis

DependentVariable is Sales

Predictor Coef SE Coef X P

Constant 9019 2508 360 0001
Price -003055 001005 304 0005
Advertising 30926 03680 840 0000

$=106075  R-Sq=844% R-Sgad)=833%

A 6654units
B 120 units
€ g034units
D 5394units

None of these




